Eonomics 302

Spring 2005

Answers to Practice Questions 5 on Chapter 5

Multiple Choice Answers:

1. e.

2. e.

3. f.

4. a.

5. f.

6. b. and e.

7. d.

8. f.

9. c.

10. d.

11. e.

12. d.

13. d.

14. c.

15. e.

16. g.

Problems:

1. This problem consists of five different steps.

a. Complete the following table.

	Sector
	Expenditures on Goods and Services Produced Domestically 
	Expenditures on Goods and Services Produced Internationally 
	Total Expenditures

	Domestic Households
	Cd =2200
	Cf = 300
	C = 2500

	Domestic Businesses
	Id = 500
	If = 300
	I = 800

	Domestic Government
	Gd = 600
	Gf =200
	G = 800

	TOTAL
	3300
	800
	4100


b. Using the date you calculated in (a), fill in the following table for this economy.  Assume exports in this economy equal $0.

	Y
	C
	I
	G
	Exports
	Imports

	3300
	2500
	800
	800
	0
	800


c. Calculate the production in this economy by filling in the following table.  Does the value of Y in (b) equal the value of Y in (c)?  (It should:  if it doesn’t, you’ve made an error.)

	Cd
	Id
	Gd
	Exports
	Y

	2200
	500
	600
	0
	3300


d. Complete the following table.

	Sector
	Expenditures on Goods and Services Produced Domestically 
	Expenditures on Goods and Services Produced Internationally 
	Total Expenditures

	Domestic Households
	Cd =3200
	Cf = 900
	C = 4100

	Domestic Businesses
	Id = 200
	If = 300
	I = 500

	Domestic Government
	Gd =400
	Gf = 500
	G = 900

	TOTAL
	3800
	1700
	5500


e. Using the date you calculated in (d), fill in the following table for this economy.  Assume exports in this economy equal $500.

	Y
	C
	I
	G
	Exports
	Imports

	3800
	4100
	500
	900
	500
	2200


f. Calculate the production in this economy by filling in the following table.  Does the value of Y in (d) equal the value of Y in (e)?  (It should:  if it doesn’t, you’ve made an error.)

	Cd
	Id
	Gd
	Exports
	Y

	3200
	200
	400
	500
	3800


2. This problem consists of two parts.

a. Complete the following table.

	Situation
	Y
	C
	I
	G
	NX
	T
	Private Saving
	Public Saving
	National Saving

	A
	10000
	6000
	1500
	2000
	1200
	1200
	2800
	-800
	2000

	B
	10000
	6500
	1800
	2000
	1200
	1200
	2300
	-800
	1500

	C
	10000
	6500
	1800
	1700
	1000
	1000
	2500
	-700
	1800


b. Using the information you calculated in (a), complete the following table.

	Situation
	Trade Surplus (negative number indicates trade deficit)
	Net Capital Outflows

	A
	500
	500

	B
	-300
	-300

	C
	0
	0


3. The following equations describe a small open economy using a Classical (long run) Model.

Y = F(K, L) = A K 1/2L1/2
K is constant at 25 units

L is constant at 100 units

The value of A is given to you as 20

C = 100 + .5(Y – T)

I = I(r) = 400 – 10r

G is constant at 100

T is constant at 50

a.  Y= F(K, L) = A K 1/2L1/2

Y = (20)(25)1/2(100)1/2

Y = 20*5*10 = 1000
b.  C = 100 + .5(1000 – 50) = 575


I = 400 -10(5) = 350


G = 100

c. Y = C + I + G + NX


1000 = 575 + 350 + 100 + NX


NX = -25

d.

	Disposable Income
	Private Saving
	Public Saving
	National Saving
	Net Capital Outflows

	950
	375
	-50
	325
	-25


e. Now, holding everything else constant suppose government spending increases by 50.  Fill in the following table.

	Y
	C
	I
	G
	NX
	Private Saving
	Public Saving
	National Saving
	Net Capital Outflows

	1000
	575
	350
	150
	-75
	375
	-100
	275
	-75


f. What does a negative number for net capital outflow mean? A negative net capital outflow indicates that the country borrows funds from abroad and is therefore spending more than it domestically produces.

g. Now, suppose we are back at out initial situation.  This time there has been a change in investment such that investment decreases by 100 at every level of the real interest rate.  What is the new investment demand function? I = I(r) = 300 – 10r

h. Using the new investment demand function found in (g) and the initial information, calculate the values for the following table.  Assume r = 5.

	Y
	C
	I
	G
	NX
	Private Saving
	Public Saving
	National Saving
	Net Capital Outflows

	1000
	575
	250
	100
	75
	375
	-50
	325
	75


i. Finally suppose we are back at the initial situation, but the real interest rate increases to 10%.  Calculate the value for the following table.

	Y
	C
	I
	G
	NX
	Private Saving
	Public Saving
	National Saving
	Net Capital Outflows

	1000
	575
	300
	100
	25
	375
	-50
	325
	25


4. Suppose there are two countries that trade with one another.  Currently the nominal exchange rate is 2 pesos per dollar where pesos are the currency of country A and dollars are the curerency of country B.  Furthermore, suppose the price of a camera made in country B is 100 dollars while the price of a camera made in country A is 200 pesos.

a. 200 pesos

b.  $100

c.  $120

d.  240 pesos

e.  $100

f.  The nominal exchange rate must rise to 1.6 pesos per dollar. 

